N°1
CAR PARC
COVERAGE

GUARANTEE

=
<]

YEARS

PE-LS-1573
c2

PE-AX-2059
C 2 M14x1.5

S PE-AX-13634
C 2 —RP 11017 C > Mi6x15

CI-ES-0865 | CI-ES-0864
¢ M14x1.5 | D M14x1.5
CI-ES-14931|CI-ES-14932
& M16x1.5 | D M16x1.5

CI-SB-0934 AN PE-BJ-4501
C 2 -RP 11017 (==

CIl-WP-12503 | CI-WP-12504
= =

CI-SB-10785
C 2 RP10003—

For vehicle with standard chassis

www.moogparts.com




